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7 # 67,122 154, 348 68, 166 154, 404
AR X 12,177 217, 746 12, 529 28, 228
i F 2, 477 5, 295 2,523 5, 280
+ it ity 1, 864 4,183 1, 899 4,183
h g = 1,751 3, 783 1,771 3, 756
15 7K 3,101 6, 862 3, 161 6, 920
7 5 650 1, 456 669 1,474
OB S RS AT 363 787 351 767
= FE dwm o BT 578 1,273 586 1,279
HAAEKR—TH 254 734 290 838
HAABEEK - TH 123 361 134 388
o B —TH 105 228 131 257
o B~ TH 62 189 117 349
Mo®B=TH 332 992 379 1, 141
S>OHHE—TH 97 275 97 283
S>OHE " TH 420 1,328 421 1,313
HE oih X 8, 333 18, 682 8, 384 18, 565
H 1/ 963 2, 287 951 2,230
4 ¥ 54 76 50 71
# & 644 1, 370 638 1, 342
il R 2,144 4,983 2,179 4,975
=Y I 1,627 3, 658 1, 645 3, 630
5 N 175 368 180 376
Hh R 1,841 3, 953 1, 856 3,971
x J% 3 885 1,987 885 1,970
HE o X 15, 019 33, 943 15, 407 34, 367
] I 8, 506 17, 761 8, 688 17, 805
= S 255 673 257 661
A = 750 1,617 754 1,584
1t F 1,673 4, 206 1, 701 4,217
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YR T H 437 1,377 440 1,379
SR =T H 567 1, 840 568 1,834
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B 5 oo T 101 258 104 263
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